
МАРМИТ ВОДЯНОЙ HURAKAN HKN-BM3 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



МАРМИТ ВОДЯНОЙ HURAKAN HKN-BM3 

2 
 

 

Поз Наименование детали 

1 Nut for water pipe 

2 Water tank 

3 Alminium pipe 

4 Gasket for pipe 

5 Silicon gasket for tap 

6 Nut for tap 

7 Frame front 

8 Tap 

9 Turning of thermostat 

10 Heating element 

11 Fasten for heater 

12 Nut for fasten 

13 Screw for fasten 

14 EGO thermostat 

15 Nut M4 

16 Switch 

17 Screw M4*8 

18 Ring of thermostat 

19 Indicator light 

20 Bolt M4*9 

21 Nut M4 

22 Bolt M4*9 

23 Nut M4 

24 Screw M4*20 

25 Earthing Al plate 

26 Nut M4 

27 Gasket φ4 

28 Spring gasket φ4 

29 Nut M4 

30 Nut M4 

31 Ceramics terminal 

32 Screw M5.5*13 

33 Leg 

34 Screw M5*16 

35 Nut M5 

36 Nut M6 

37 Bolt M3*20 

38 Bottom 

39 Thermo on/off 

40 Tray for heater 

41 Ceramics terminal 

42 Nut M3*12 

43 Wire and plug 

44 Frame 

45 Screw 3.2*11 

46 Bolt 

47 Screw 10*10*M5 

48 Nut M4 

49 Fasten for heater 

50 Bolt M4*9 

 

 

 


